Name: ________________


Applying Thomas & Chess’s

Temperament Theory

Instructions: 

· Read the following scenarios and decide which child temperament fits best. Choose from Easy Children (EC), Difficult Children (DC) or Slow-to-warm-up Children (SC).

Scenarios:
1. John is a fourteen year old boy who gets frustrated quickly with his friends and teachers.

Temperament: _____

2. Sara has always been the top student in her class. This year she has taken on being the student council president, as well as, joined the Outdoor Club because she thought she would enjoy camping.

Temperament: _____

3. Sam just turned three years old and is starting his first day of Pre-school. Upon entering the building, he immediately ran over and played with the other children.

Temperament: _____

4. Kerry has also turned three years old this week and she too was starting Pre-school. Upon getting to the school she clung on to her mother and was afraid of playing with the other children. After some encouragement from mom, Kerry began to play with the others. 

Temperament: _____

5. When in his crib, Jacob tends to toss and turn a lot regardless of when his mother puts him down.
Temperament: _____

6. Karen is 32 years old and has never been in a serious relationship. She has always had boys that like her, but she is uncomfortable talking with strangers and feels awkward.

Temperament: _____

7. Scott wanted to play Guitar Hero after he saw his friend Brad do really well. Scott tried playing the same song, but was not very good, so he threw the guitar down and said the game was stupid.

Temperament: _____

8. Brad realized that Scott was frustrated and wanted to encourage him to continue to try because he knew how hard it was the first time he tried too. Brad told Scott, “It’s hard, but with practice you’ll get better.”

Temperament: _____

Total Marks: _____ out of 8

Answers:

1. DC
2. EC
3. EC
4. SC
5. DC
6. SC
7. DC
8. EC
